ZB&HREN
ZB SERIES GEAR BOX

Mgz

[ ZU3WE Sectional Drawing

@ HyHi%@ Output shaft

@ jET 0il seal

@ HHhATEM& Output shaft front bearing

@ 1TE% Planetary gear

® ABEE Solar wheel

® i EHEH& Full needle bearing

@ B2 Front cove

i 4M7% Output shaft rear bearing -
© i il seal Po3
@ BX3H2S Coupling

@ BMEIR Lock ring

®@ 5= rear cover

B E5S. HNEEIRREEE Type And Model Number
ZBIiZEH1, ZB Reducers ‘ {EIBREEH Servo Motor

090 ZB 20 () (S) - 750 T1 [
©® @ ©® @ &6 & @ 6

D RIEHAIEES:090 BRIP4 Gear head frame size:090
2 RENREINLE B Gear head series code:ZB
@ EE:20 BRIP4 Gear Ratio: Single Stage 20,(P04)
@ ¥5E BRIP4 Amount of backlash, (P04)
FRERIP2(EER) BRI SRSEEEIPO Standard type P2 precision P1 high precision PO
R R AB I BN £ 5%aR0(E precision (the load of output shaft is+5% of allowable output torque)
& BNIHE Input shaft type

SEAHIE (BT AR S EEEER]ER |, (B'D"=FBIASER]) S:Over locking(Omission)(regardless whether the motor with keyway can use it.But D Cut can't use)
SIS R (LICDIARDEIEEERal (A , (B'D"=FEER)  StiLocking with locking ring(regardless whether the motor with keyway can use it.But D Cut can't use)

SRR R N\ 5E) S2:Locking with keyway (input shaft with key)
Kseis K:With keyway
AFEE RSB S A ATRR) A:Other type (please contact with us)

© EFERZIAINZR(W) Applicable servo motor power (W)

@ (ARSI REFR(P11~P12) Manufacturer name of servo motor (P11~P12)

® (ARDEES Modle of servo motor




= aiiig
PRODUCT SPECIFICATIONS

W RER SRS EL Reducer Performance Data

g B Aoty !
Specifications Node Number | Reduetion Ratio | 060ZB | 060(A)ZB | 090ZB | 090(A)ZB | 115ZB 14278 18028 2207B
3 55 - 130 - 208 342 588 1140
4 50 - 140 - 290 542 1050 1700
5 60 - 160 - 330 650 1200 2000
1 6 55 - 150 - 310 600 1100 1900
7 50 - 140 - 300 550 1100 1800
8 45 - 120 - 260 500 1000 1600
9 40 5 100 5 230 450 900 1500
10 40 - 100 - 230 450 900 1500
15 55 55 130 130 208 342 588 1140
20 50 50 140 140 290 542 1050 1700
eI 5 T,y Nm 25 60 60 160 160 330 650 1200 2000
30 55 55 150 150 310 600 1100 1900
35 50 50 140 140 300 550 1100 1800
40 45 45 120 120 260 500 1000 1600
2 45 40 40 100 100 230 450 900 1500
50 60 60 160 160 330 650 1200 2000
60 565 55 150 150 310 600 1100 1900
70 50 50 140 140 300 550 1100 1800
80 45 45 120 120 260 500 1000 1600
90 40 40 100 100 230 450 900 1500
— 100 40 40 100 100 230 450 900 1500
P04 SMEHIE T, Nm 1,2 3~100 e 0%

BUERNEEE n,, rpm 12 3~100 5000 5000 4000 4000 4000 3000 3000 2000
BN n, rpm 12 3~100 10000 10000 8000 8000 8000 6000 6000 4000
SE— ) 1 3~10 - 5 5 - <1 <1 <1 <1
EFSEERIER PO | aromin 2 15~100 S - S - <3 <3 <3 <3
[ i 1 3~10 <3 - <3 - <3 <3 <3 <3
FEEERRARE P1 aremin 2 15100 - <5 <5 <5 <5 <5 <5 <5
— i 1 3~10 <5 5 <5 5 <5 <5 <5 <5
FRAEERABE P2 aremin 2 15~100 - <1 <1 <1 <1 < < <
TREERINE Nm/arcmin 1,2 3~100 7 7 14 14 25 50 145 225
BFREA Fue N 12 3~100 1530 1530 3250 3250 6700 9400 14500 50000
BRI Fop N 1,2 3~100 765 765 1625 1625 3350 4700 7250 25000

FEREm hr 12 3~100 20000*
s o 1 3~10 >97%
E N % 2 15~100 ‘ ‘ | 29‘4% | | |
= 1 3~10 1.3 - 3.7 - 7.8 145 29 48
BE ko 2 15~100 15 | 19 | 41 [ 853 [ 9 | 175 | 33 | 60
FEFRE °C 1,2 3~100 -10°C~+90°C
EE 12 3~100 ShkEEHiE
FtPEELR 1,2 3~100 IP65
s Ial) 12 3~100 [ES=ValL
=z, =T
f'ffﬁgﬁ)ﬁ}':f@ ) dBiA) 12 3~100 <58 ‘ <60 ‘ <60 ‘ <63 ‘ <63 ‘ <65 ‘ <67 ‘ <70

B FiEH S S E Moment Of Inertia Of The Reducer

g REL IRIEREL
Specifications Node Number | Reduction Riatio | 060ZB | 0BO(A)ZB | 090ZB | 090(A)ZB | 11528 14278 180ZB 22078
3 0.16 - 0.61 - 3.25 9.21 28.98 69.61
4 0.14 - 0.48 - 2.74 7.54 23.67 54,37
5 0.13 - 0.47 - 2.71 7.42 23.29 53.27
1 6 0.13 - 0.45 - 2.65 7.25 22.75 51.72
7 0.13 - 0.45 - 2.62 7.14 22.48 50.97
8 0.13 - 0.44 - 2.58 7.07 22.59 50.84
9 0.13 - 0.44 - 251 7.04 22.53 50.63
10 0.13 - 0.44 - 257 7.03 22.51 50.56
15 0.03 0.13 0.13 0.47 0.47 2.1 7.42 23.29
20 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
BigE J, Kg-cm’ 25 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
30 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
35 0.03 0.13 0.13 0.47 0.47 2.11 7.42 23.29
40 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.13 0.47 0.47 2.1 7.42 23.29
50 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
60 0.03 0.13 0.13 0.44 0.44 251 7.03 22.51
70 0.03 0.13 0.13 0.44 0.44 251 7.03 22.51
80 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
90 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
100 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
TR (i=N,/N,,) 2. B R NNESIFET,,=60% of Ty, 3 HEEE 00rpmAY |, (ERFH B OME.

MELLIEE | %A /910000hrs



‘R?(%é&,iﬁﬁﬁtb i=3~10)

DIMENSIONS(SINGLE SEGMENT, REDUCTION RATIO i=3~10)

I R <& Dimensional Drawing

i Output c9 N Input
c8 L8 L2
oc7
o006 7 13
= IS
C15 |16 &
e &l W | o1 e
©
6 _[]
ca
2
= D535 (depth)L9
e
* i
H1
Il R <F % Dimensional Table [Efzmm]
R Size 060ZB 090ZB 11528 14278 18028 22078
D1 70 100 130 165 215 250
D2 55 6.6 9 1 13 17
D31 16 22 32 40 55 75
D4 w 50 80 110 130 160 180
D5 M5 x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 a8 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 65.5 78 101.5 119.5 154 163.5
L9 125 19 28 36 42 42
c1 70 100 130 165 215 235
c2 M5 x0.8P M6x 1P M8 x 1.25P M10x1.5P M12x1.75P M12x1.75P
c3 *<14/<16 <19/<24 <32 <38 <48 <55
c4 35 405 51 60 85 116
€50 50 80 110 130 180 200
c6 8 4 5 6 6 6
c7 60 90 115 142 190 220
c8 195 175 20 225 29 63
c9 122 143.5 186.5 239 288 364.5
B 1 5 6 10 12 16 20
H1 18 245 35 43 59 79.5

*060ZB 5,10 JHERECAZHEC3< 16715,

Mgz




‘R?(ﬁﬁ&,ﬁﬁtb i=15~100)
DIMENSIONS(DOUBLR, REDUCTION RATIO i=15~100)

B R < B Dimensional Drawing
co

i Output o8 8 2 BN Input
L7 L3
- Cer
—— [ 15 | 16 .9 =
[{=]R=] o
g8 | 82 N
€6 N

#r

o8 L 4-C2 o]
. C4 | :
co 060AZB/090AZB
C8 L8 L2
L7 L3 7
:5; D53(depth)L9 T 5 15 o 2 5
% | o “
H1 8 Q i
C6_| o ; a2 @
[l R<F'3& Dimensional Table [BAz:mm]
R Size 060AZB 090ZB 090AZB 11528 14228 18028 22078
D1 70 100 130 165 215 250
D2 55 6.6 9 1 13 17
D3w 16 22 32 40 55 75
D4 w 50 80 110 130 160 180
D5 M5 x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 18 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 102.5 116 126 143 169.5 2075 246
L9 125 19 28 36 ) )
c1 70 70 100 100 130 165 215
c2 M5x0.8P M5x0.8P M6x1P M6 1P M8x1.25P M10x1.5P M12x1.75P
c3 <14/<16 <14/<15.875/<16|  <19/<24 <19/<24 <32 <38 <18
ca 35 35 405 40 50 60 85
C5es 50 50 80 80 110 130 180
c6 8 8 4 4 5 6 6
c7 60 60 90 90 115 142 190
cs 195 19.5 17.5 17.5 125 225 29
co 159 1835 1915 2255 2835 335 409
Bl 5 6 10 12 16 20
H1 18 245 35 43 59 795




